ANSWERS

[ Rationalising Surds (D)

1 |

Section A  Rationalise the denominator of the following.
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Section B Rationalise the denominators of the following.
11 12 4
1 22 +11 3 5 -6+2
) o_ ‘/3 1/3 ) 3 \/5 6+ 21/3 ) 3+ m \/W
1 7 1 1+.3
2 -2 - 4 2- 6
) SLTE /5 ) Tels W2-7 e 731 )

©Visual Maths Resources

www.cazoommaths.com

Number - Powers - Rationalising Surds (D) GCSE Tier: Higher




:

Rationalising Surds (D)

1 |

ANSWERS
Section C
9+13
1) Express J_— as an integer. 8
Vo -1
3+
Express ——— inthe formm + nﬁ,
2) /3 -1 3+2/3
where m and n are integers.
2+5
Express J—— in the form ay/2 + b,
3) V2-1 62 +7
where a and b are integers.
12-6
Express —— intheforma - bﬁ,
4) V12 +2 3 2‘/5
where a and b are integers.
7+4
Express J—— in the form pﬁ +q,
27-2 5 1
5) J7 +
. 12 12
where p and g are rational.
2¢y3+8
Express % in the formq + pﬁ, 4
6) - 2 + 3 ﬁ

where p and g are rational.
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